
Most Improved Golfer 
 

The following is the formula used to manually calculate the most improved golfer if you choose 
to not use the report generated in score centre: 
 
Add 12 to the player’s World Handicap System index recorded at the end of the previous playing 
season, e.g. Sept. 30. This is value A. 
 
 Add 12 to the player’s World Handicap System index at the end of your club’s playing season, 
e.g. Sept 30. This will be a player’s 12 month scoring record. This is value B. 
 
Divide value A by value B, calculating to three decimal places. This is the improvement index. 
Players with a 9- hole World Handicap System index add 6 instead of 12. 
 
Example 
 
Starting handicap index: 22.6 Ending handicap index: 17.4 
Value A: 22.6 + 12 =34.6 
Value B: 17.4 + 12 =29.4 
A÷B: 34.6÷29.4= 1.177 Improvement Index 
 
Continue this process for every golfer who improved during the year. The player with the highest 
improvement index is the most improved player. 
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